Unit S Trig Review Name: M Class:

This will be graded. Use your notes if needed. All of this information was on your last quiz and will be on

this week’s test.
Background Info:
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e State the Pythagorean Theorem: a* b =C

in aright 4, 1+ I"S)

e What do you know about side “c”? _ﬂ_‘_\&ﬂ}‘i‘l’hﬂ lDﬂ@tS"‘ Slde’ C the h\llpl)'"f nuse
e What word do we use to remember the trig ratios? S-&C% T% ok Sbhmm

e State the trig ratios for each of the following:
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o Tangent:

Part 1: Pythagorean Theorem - REMEMBER TO WRITE THE UNITS
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Part 2: Converse of the Pythagorean Theorem — Determine if the triangle is right, acute, or right. Also
state if it is a scalene, isosceles, or equilateral triangle. (You should have TWO names for each)

4. Sides: 4,8, 11 ; 5. Sides: 19, 31, 27
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Part 3: Determine all of the trigonometric ratios for the triangles provided. Be sure to simplify and show

all work when finding missing sides!
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Round to the nearest tenth when needed.
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Part 4: Find the missing side or angle indicated in each triangle. SHOW ALL OF YOUR WORK!!
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Part 5: Extension (Looking ahead)

18. A ladder leaning against a wall is pictured to the right. Calculate the angle
that the ladder makes with the wall. (To help you there is another picture
provided illustrating the triangle you will need to use.)
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19. If the person shown in the picture is standing 45 feet away from the bottom of the tree and the tree is 32 feet
tall, then determine the degree of angle x.
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20. Find b in the diagram on the right. (Note: You will need to find AB first!)
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